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Paper IX—INCOME TAX AND AUDITING
Section A—Income Tax
(.Admissiron of 2006 onwards)
Timé 1 2 Hours Maximum Marks : 50

(Write your Roll No. on the top immediately on receipt of this question paper.)

Note :—  Answers may be written either in English or in Hindi;
‘but the same medium should be used throughout the
paper.
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Attempt A/l the questions.
"t g wifse
1. State True or False : S

(@) A person may not have assessable income but may still
. . : !

be an assessee.
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(b) In some cases assessment year and previous year can

"be same financial year.
(©0  SHEC is half of the education cess.

(d)  Salary received by‘the Member of Parliament is exempted

from tax.

(¢)  Deductions under section 80C is allowed to the extent

of Rs. 1,40,000.
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Mrs. X has the following incomes during the year 2012-13 : - 15

(@)

)

(0)

(@)

©

Rs.
Salary 3,10,000
Dearness- allowance (forming part of salary - -
for‘retirement benefits) 72,000 -
Medical allowance (Af:tual expenditure
Rs. 20,000) 30,000
Education allowance (for.three children) 5,200

Rent-free house in Delhi for which the employer paid
Rs. 5,000 per month as rent. The house is equipped
with rented furniture. The rent of the furniture is Rs. 3,000

per month.’

The employer has provided her a domestic servant, a
sweeper and a watchman. The empldyer paid Rs. 500

per month to each.
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(&) The employer spent Rs. 2,500 on her training

programme.
() The employer paid her telephone bills of Rs. 22,200.

()  Profession tax paid by Mrs. X is Rs. 1,200.

Compute her taxable income for the assessment year 2013-14

assuming that she has no other income.
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or
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Discuss the provisions of Income Tax Act for valuing the

following perquisites :

(@)  Rent-free furnished accommodation provided to the

erhployee.

(b)  Interest free_ loan of Rs. 5,00,000 sanctioned to‘the

employee.

(¢ Employee claimed a reimbursement of Rs. 2 Jac for

treatment of his wife in a city hospita,
(4  Free education facility.
frfafed sRafert &1 qeiet =3 & fag s
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(@) Rt # W—gﬂﬁ 5,00,000 . T i
fomr mm

(M) FUIR I 3 Il & SUeR & fom fadt sromae

# 2,00000 & WRGR 1 <@ forn & 1
(a) Fges foan gfaw

During the financial year 2012-13 Mr. S had the followiﬁg

incomes : 15

(@) Salary income received in India for services

rendered in America 3,90,000

(b)) Income from profession in India but received

in Germany 3,60,000

(¢)  Property income in Uganda (out of which

Rs. 2,40,000 was remitted to India) 5,00,000
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- (d)  Profits earned from business in Bangalore 1,50,000
(¢)  Agriculture income in Poland 1,60,000

(/ ~ Profits from business carried on at Nepal

b_ul controlled from India 2,20,000
Computc the income of Mr. S for the assessment year
2013'-14 if he is :

(a) Resident and ordinary resident

(/) Not ordinary resident and

(¢}  Non-resident in India. -

fawt s =t fadia o 2012-13 ﬁﬁﬂf@f@ﬁ@ﬁéﬁ :

(%) sl § & R gawsli & fau 9ra

T aqq 3™ Y R 3,90,000
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(@) 9Rd H a9 9§ I g W SHA

H 9T H 3,60,000

(m) gmel # "ufd ¥ s (i 4

2.40.000 T. YR ¥ few o) 500,000
(9) SR § emg ¥ e oy 1,50,000
(%) N ¥ 79 dcig H 1,60,000

() 3w # fey M eEEE A e Wy

o @ e fRiEw fEE T 2,20,600
firet s &1 fraio g 2013-14 & o 3@ &1 sfere
Hifoe afg o
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PTO.



(@)

(®)

(%)

(@)

(@)

(109 7641

(g

Distinguish between short-term and long-term capital

assets.

Enumerate any fen incomes which do not form part of
the total income.
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Define Annual value. State the deductions that are

allowed from the annual value in computing the Income

from house property. 8
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(b)) Define ‘previous year’. Under what circumstances the

income of the previous year is taxable in the same

previous year-? 7
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(@) . How would you determine the- residential status of an

individual ? Explain. 8
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(b)) What do.you understand by -‘Income from other
sources’ 7 State the main incomes which are included

under this head. 7
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